




Real Champs-



38 + 6 × 0.55 – 2.8 × 5 = ?

A.27
B.27.3
C.22
D.21
E.NOT



12 × 8 - (21 ÷ √49) × 5 = ?2

A.3
B.7
C.9
D.10
E.81



166.67% of 108 + ? = 150% of 700 - 70

A.640
B.740
C.800
D.900
E.NOT



46 × 1536 ÷ 2√2304 = (?)3 + √49

A.7
B.8
C.9
D.6
E.10



1120 ÷ 42 × 0.8 - 88 + 232 = ?

A.561
B.528.5
C.523.5
D.497
E.NOT



[(92 + 38) × 12] – [144 ÷ 9] = ?

A.2159
B.180
C.1412
D.1988
E.5



28 × 104 ÷ (28 – 21 + 6) + 3 = ?

A.227
B.204
C.224
D.228
E.234



225 ÷ 15 + 598 ÷ 13 + ? = 25% of 2500

A.574
B.518
C.564
D.550
E.523



The average age of a group of 15 officers is 48 years. If 5 more officers join the group, the 

average age increases by 2 years. Find the average age of the new officers?

15 अधिकारियों के एक समूह की औसत आयु 48 वर्ष है। यधि समूह में 5 औि अधिकािी शाधमल हो जाते हैं, 

तो औसत आयु 2 वर्ष बढ़ जाती है। नए अधिकारियों की औसत आयु ज्ञात कीधजये?

A.54 years
B.55 years
C.56 years
D.57 years
E.NOT



R decides to sell a mixture of sugar at  16.40rs per kg. For that he mixes good quality 

sugar work 18rs per kg and a low quality sugar worth 15.50rs per kg. Then in what ratio 

should he mix the two types to sell it at his decided rate?

R चीनी के धमश्रण को 16.40 रुपये प्रधत धकलो की िि से बेचने का धनणषय लेता है। इसके धलए वह अच्छी गुणवत्ता वाली 

चीनी वकष  18 रुपये प्रधत धकलो औि कम गुणवत्ता वाली चीनी धमलाता है धजसकी कीमत 15.50 रुपये प्रधत धकलो है। तो उसे 

अपनी धनिाषरित िि पि बेचने के धलए िोनों प्रकािों को धकस अनुपात में धमलाना चाधहए?

A.17 : 9
B.9 : 16
C.14 : 5
D.5 : 14
E.12 : 5



After a 25% initial discount on the marked price of an item, a shopkeeper offers a 20% 

additional discount on the discounted price. If the final sale price of the article is 600rs, 

then what is its marked price?

एक वस्तु के अंधकत मूल्य पि 25% की प्रािंधिक छूट के बाि, एक िुकानिाि रियायती मूल्य पि 20% 

अधतरिक्त छूट प्रिान किता है. यधि वस्तु का अंधतम धवक्रय मूल्य 600 रुपये है, तो इसका अंधकत मूल्य क्या 

है?

A.Rs. 680
B.Rs. 725
C.Rs. 1000
D.Rs. 1070
E.Rs. 1200



If the difference between the compound interest and simple interest for 3 years at 10% 

per annum is 620rs. Find the principal amount ?

यधि 10% प्रधत वर्ष की िि से 3 वर्ों के धलए चक्रवधृि ब्याज औि सािािण ब्याज के बीच का अंति 620 

रुपये है। मूल िाधश ज्ञात कीधजये?

A.Rs. 10,000
B.Rs. 15,000
C.Rs. 20,000
D.Rs. 25,000
E.Rs. 30,000



A, B, C started a business with capital 39000rs, 65000rs and 78000rs respectively. At the 

end of 2.5 years, the total profit is 5656rs. What is the difference between the profit share 

of A and C?

A, B, C ने क्रमशः 39000 रुपये, 65000 रुपये औि 78000 रुपये की पंूजी के साथ एक व्यवसाय शुरू 

धकया। 2.5 वर्ों के अंत में, कुल लाि 5656 रुपये है। A औि C के लाि धहस्से के बीच का अंति क्या है?

A.909
B.1515
C.1818
D.1212
E.NOT



A and B can complete a piece of work in 10 days and 15 days respectively. If they start 

the work together but after 5 days B left the work, In how many days the total work 

would be finished?

A औि B एक कायष को क्रमशः 10 धिनों औि 15 धिनों में पूिा कि सकते हैं। यधि वे एक साथ काम शुरू 

किते हैं लेधकन 5 धिनों के बाि B काम छोड़ िेता है, तो कुल काम धकतने धिनों में पूिा हो जाएगा?

A.6 days
B.10 days
C.12 days
D.(20/3) days
E.NOT



3 men and 4 women can complete a work in 6 days, while 5 men and 3 women complete it 

in 7 days. In how many days will 7 men complete it?

3 पुरुर् औि 4 मधहलाए ंएक कायष को 6 धिनों में पूिा कि सकते हैं, जबधक 5 पुरुर् औि 3 मधहलाए ंइसे 7 धिनों 

में पूिा कि सकते हैं। 7 पुरुर् इसे धकतने धिनों में पूिा किेंगे?

A.11 days
B.44 days
C.22 days
D.33 days
E.NOT



59.76,   58.66,   56.46, 52.06,   ?,   25.66

A.43.26
B.43.46
C.46.53
D.48.08
E.NOT



500, 475,   426,   345, 224,   ?

A.51
B.52
C.53
D.54
E.55



200, 190,    ?,     140,     100,    50, -10

A.170
B.180
C.185
D.175
E.150
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Directions: In the given Bar graph, the number of male and female participated in the voluntary 
work for helping the poor affected due to the lockdown from three district Chamba, Shimla, Kullu
and Kangra in the month of April 2020.
निरे्दश: दर्दए गए बार ग्राफ में, अप्रैल 2020 के महीिे में तीि जिलों चंबा, नशमला, कुल्लू और कांगडा से 
लॉकडाउि के कारण प्रभावित गरीबों की मर्दर्द के नलए स्िैजछिक कार्य में पुरुष और मदहलाओं की संख्र्ा िे 
भाग नलर्ा।



What is the average number of male participants in the voluntary work from all four districts?

सिी चाि धजलों से स्वैधच्छक कायष में पुरुर् प्रधतिाधगयों की औसत संख्या क्या है?

A.50
B.49
C. 48
D.58
E. 68



What is the ratio between the total number of male participants from Shimla and Kangra

together and the total number of female participants from Chamba and Kullu together?

धशमला औि कांगड़ा के पुरुर् प्रधतिाधगयों की कुल संख्या औि चंबा औि कुल्लू से मधहला प्रधतिाधगयों की कुल संख्या के

बीच का अनुपात क्या है?

A.52 : 45
B.45 : 52
C. 45 : 49
D.49 : 45
E. 53 : 45



Find the difference between the district having the maximum participation and the district 

having the minimum participation?

अधिकतम िागीिािी वाले धजले औि न्यूनतम िागीिािी वाले धजले के बीच का अंति ज्ञात कीधजए?

A.32
B.34
C. 44
D.54
E. 64



By what approximate percentage is the total number of female participants from district 

Chamba and Shimla together is more or less than the total number of male participants from 

district Kangra and Kullu together?

धजला चंबा औि धशमला से मधहला प्रधतिाधगयों की कुल संख्या कांगड़ा औि कुल्लू धजला के पुरुर् प्रधतिाधगयों की 

कुल संख्या से धकतने प्रधतशत अधिक या कम है?

A.22%
B.20%
C. 25%
D.18%
E. 17%



By what approximate percentage is the number of female voluntary from district Kangra is less 

than the male voluntary from Shimla?

कांगड़ा धजले से स्वैधच्छक मधहलाओ ंकी संख्या धशमला के पुरुर् स्वैधच्छक की तुलना में लगिग धकतने प्रधतशत कम है?

A.53.34%
B.55.34%
C. 56.34%
D.57.34%
E. 58.33%



The average age of 8 students is 25 and if the average age of the first five and last 3 

students are in a ratio 2 : 5 respectively then what is the average age of the last three-

students?

8 छात्रों की औसत आयु 25 है औि यधि पहले पांच औि अंधतम 3 छात्रों की औसत आयु क्रमशः 2 : 5 के 

अनुपात में है, तो अंधतम तीन छात्रों की औसत आयु क्या है?

A.10
B.20
C.30
D.40
E.NOT


